

Expt Evaluate  $\lim_{x \rightarrow 0^+} \left( \frac{1}{x} - \frac{1}{\sin x} \right)$

$$\lim_{x \rightarrow 0^+} \left( \frac{1}{x} - \frac{1}{\sin x} \right) \stackrel{\text{"DSP"}}{=} \frac{1}{0^+} - \frac{1}{\sin 0^+} = \underbrace{\infty - \infty}_{\text{indet. form}} \quad \text{for } \frac{\infty}{\infty}$$

$\sin 0 = 0$

$$\lim_{x \rightarrow 0^+} \left( \frac{\sin x - x}{x \cdot \sin x} \right) \stackrel{\text{"DSP"}}{=} \frac{0}{0}$$

L.R.

$$\stackrel{H}{=} \lim_{x \rightarrow 0^+} \left( \frac{\cos x - 1}{1 \cdot \sin x + x \cdot \cos x} \right) \stackrel{\text{DSP}}{=} \frac{\cos 0 - 1}{\sin 0 + 0 \cdot \cos 0} = \frac{0}{0}$$

$\frac{0}{1}$

$$\stackrel{H}{=} \lim_{x \rightarrow 0^+} \left( \frac{-\sin x}{\cos x + 1 \cdot \cos x + x \cdot (-\sin x)} \right) \stackrel{\text{"DSP"}}{=} \frac{0}{1+1+0} = \frac{0}{2} = 0$$

$(x \cdot \cos x)'$

$$\lim_{x \rightarrow 0^+} \left( \frac{1}{x} - \frac{1}{\sin x} \right) = 0$$